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| Part one: Vocabulary

121 -

122 -

123 -

124 -

125 -

126 -

127 -

128 -

129 -

Directions: Complete the following sentences by choosing the best answer.

The emergency unit is a bit crowded due to a ................ car crash which had several casualties.

a) mild b) fatal ¢c) minute d) trivial
Before starting an operation, a patient needs to be fully ................ to make sure s/he does not feel
pain.

a) anaesthetized b) immobilized ¢) detained " d) distressed
If h_o complication arises, the patient will be ................ within two weeks.

a) discharged b) dismissed c) expelled d) admitted
The report said that the victims were ................ in smoke and died because of not having enough
oxygen.

a) immersed b) suffocated ¢) drowned d) choked

Varying degrees of anxiety will always affect less experienced students’ performance in a

................ or devastating way.
a) detrimental b) jovial ¢) cheerful d) viable
Although loss of memory is a natural ................ old age, progressive and significant memory loss

may signal a more serious condition.

a) investment in b) propensity for ¢) concomitant of d) opposition to

The use of telemedicine is rapidly advancing, but its full potential in providing accessible

healthcare to remote areas is still in its ................ 5
a) integrity b) adequacy ¢) infancy d) ethnicity
Practicing mindfulness and meditation techniques can ................ a relaxation response in the
body.
a) worsen b) halt c¢) disrupt d) elicit
The rise of antibiotic-resistant bacteria poses a significant ................ public health as it increases

the risk of treatment failure.

a) menace to b) detriment of c) sequel to d) indictment on

'O
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130 - The medical study on the efficacy of a new drug on lowering blood pressure produced ................
results as the data did not show a clear pattern.
a) remarkable b) invaluable ¢) consistent d) inconclusive
131 - It is possible to have ................ reactions to local anesthetics, such as dizziness, convulsions, and
even death.
a) optimistic b) vibrant ¢) life-saving d) adverse
132 - A cut or a(n) .eceeevnrnenne wound is a break in the skin where the length of the wound on the
surface is greater than the depth of the wound.
a) incised b) sutured ¢) inflamed d) occluded
133 - The environment in which a person ................ plays a crucial role in shaping his/her health and
quality of life.
a) resides b) resents ¢) resigns d) revolves
134 - Information on the number of patients who receive blood ................ for chemotherapy- induced
anemia is not collected centrally.
a) sedimentation b) accumulation ¢) transfusion d) transmission
135 - We are hoping that the tests will show that the lump in your breastis ................ G
a) hazardous b) malignant c) benign d) lethal

136 - The man who wanted to hurt the hospital staff is being kept in jail until the trial so that he

CANNOL covvevnreeranns any of the witnesses.
a) disintegrate b) expel ¢) intimidate d) disqualify
137 - The documentary showed an eye operation in very small and ................ detail, which can be used
as an appropriate model for surgical fellows.
a) irrelevant b) minute ¢) voluminous d) pointless
138 - The evidence presented here indicates that such an idea can be described as ... .
Logically, it is impossible to imagine such a thing.
a) invaluable b) inconceivable c) perceptible d) tangible
139 - Fat contains some cells that ................ divide into more specialized cells. In other words, this
process happens without any obvious outside cause. i '
a) spontaneously b) intentionally c) deliberately d) voluntarily
140 - The doctor expressed her ................ , so she returned the patient’s blood sample to the laboratory

for further investigation.
a) assurance b) firmness ¢) determination d) skepticism

\#
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B Part two: Reading Comprehension
Directions: Read the following passages carefully. Each passage is followed by some questions.
Complete each question with the most suitable choice (a, b, ¢, or d). Base your answers on the
information given in the passage only.

Passage 1

Cancer, a group of diseases characterized by the uncontrolled growth and spread of abnormal cells, has been
a persistent global health challenge. Despite advancements in medical technology and treatment methods, the
incidence of cancer continues to escalate worldwide. This rise can be attributed to various factors, including
lifestyle changes, environmental factors, and genetic mutations. The proliferation of unhealthy lifestyles,
such as tobacco use, unhealthy diets, and physical inactivity, has contributed significantly to the global
cancer burden. These lifestyle factors can lead to the accumulation of genetic mutations in cells, eventually
triggering the development of cancer. The rise in sedentary lifestyles and consumption of processed foods has
further exacerbated this issue, leading to an increase in obesity-related cancers. Environmental factors,
including exposure to harmful chemicals and radiation, also play a pivotal role in the rise of cancer cases.
Prolonged exposure to these harmful elements can significantly damage the DNA in cells and lead to
mutations that cause cancer. Industrialization and urbanization have led to increased exposure to
environmental pollutants, contributing to the small increase in cancer cases. Genetic mutations, both inherited
and acquired, are at the core of cancer development. While inherited genetic mutations play a significant role
in certain types of cancer, acquired mutations due to exposure to carcinogens or lifestyle factors are far more
common. Despite these challenges, advancements in medical research and technology have led to improved
cancer detection and treatment methods. However, the accessibility and affordability of these treatments
remain a significant barrier, particularly in low- and middle-income countries. The disparity in access to
cancer care between developed and developing countries further compounds this problem.

141 - Which of the following best describes the main idea of the passage?
a) Cancer is primarily caused by inherited genetic mutations.
b) The accessibility and affordability of cancer treatments are not a significant issue.
c) The global cancer burden is decreasing due to the medical technology advancements.
d) Global cancer increase is due to lifestyle, environmental, and genetic changes.

142 - As to the role of genetic mutations in the development of cancer, the author suggests that

a) genetlc mutations are the sole cause of all types of cancer

b) both inherited and acquired genetic mutations are at the core of cancer development
¢) acquired genetic mutations are the sole contributors to the development of cancer

d) genetic mutations play a minor role in the development of cancer

143 - Cancer detection and treatment are ................
a) accessible and affordable to all countries worldwxde
b) limited to underdeveloped and developed countries
¢) not a significant issue in the fight against cancer
d) viewed as significant obstacles in low- and middle-income countries

144 - According to the passage, the increase in cancer cases is significantly impacted by ................ .
a) lifestyle changes specific to industrialized countries

b) genetic mutations rooted in environmental pollutants
¢) prolonged exposure to harmful chemicals and radiation
d) advancements in medical research and technology

145 - The expression ‘this issue’ refers to ............... .
a) sedentary life
b) eating fast foods
¢) cancer development
d) genetic mutation

VY
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Passage 2

Every year, medical schools globally face the challenge of selecting a handful of candidates from a large pool
of eligible applicants, a process crucial and consequential for public health. Thus, apart from cognitive
ability, selection criteria include character attributes, such as altruism, empathy, reliability, communication
skills, etc. Validating the selection process involves a lengthy follow-up as graduates integrate into the
medical workforce and practice over subsequent years. Attempts to validate the admission process are
presented extensively in the literature that focuses on students' achievements in admission tests, through their
years of study, and in their final examinations, evidencing a direct correlation between admission scores and
academic achievements in the following years. In contrast, evidence for the reliability of interviews and other
humanistic models is limited, with their ability to examine personal qualities or predict academic
achievements and clinical performance not firmly established.

To address limitations in medical school admission processes, some institutions integrate pre-medical studies,
which are an educational, academic track that.qualifies students and facilitates their subsequent selection into
a medical school. The pre-medical track offers courses on core subjects that prepare students for medical
studies. These include topics for allied health professions, community involvement, clinical experience, and
research experience. Some pre-medical programs provide broad-based preparation for professional tracks and
can prepare students for entry into a variety of primary professional programs or graduate degrees with
similar prerequisites (including schools of medicine, veterinary medicine, and pharmacy.) Most studies show
a positive correlation between student achievement in pre-medical programs and their achievements through
their years in medical school.

146 - The reliability of students’ admission interviews ................ 5
a) has been well established
b) needs to be further investigated
¢) 1is already used to monitor students” success
d) highlights the importance of clinical performance

147 - The text mainly discusses the relationship between admission scores and the quality of students’

................

b) community involvement
¢) clinical experience
d) research experience

148 - The text ................ link between students’ pre-medical studies and their upcoming performance
in medical schools.
a) refers to a satisfactory
b) challenges any meaningful
¢) fails to address the existing
d) s critical of studies investigating the

149 - Pre-medical studies can be integrated into the medical school admission process to ................
a) get rid of admission tests

b) conduct clinical performance
c) elevate pre-medicine education
d) improve admission processes

150 - The underlined word ‘These’ refers to ................ .
a) pre-medical studies
b) medical studies
¢) institutions
d) courses

VA
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Passage 3

While most people know that the flu virus can lead to other health complications, such as pneumonia, recent
research reveals that the flu, a common contagious respiratory illness caused by influenza viruses, can also
increase the risk of heart attack and stroke. According to a study in 2023, adults aged 50 and older who had
even a mild case of that were shown to have double risk of suffering a heart attack or ischemic stroke within
two weeks after catching the virus. This likelihood quadrupled in adults with preexisting health conditions
who dealt with a severe case of the flu, with their risk lasting up to two months post-infection. Likewise,
a 2020 study conducted by the Centers for Disease Control and Prevention (CDC), which involved more than
80,000 adults hospitalized with the flu, reported that 1 in 8 patients had an acute cardiac event, such as acute
heart failure or acute ischemic heart disease. Also, another study in 2018 found a significant association
between the flu and acute myocardial infarction, otherwise known as a heart attack, where adults were six
times more likely to have a heart attack within one week after catching the flu. According to the CDC, there
were an estimated 25 million to 46 million cases ofthe flu between October 2023 and February 2024,
while heart disease continues to be the leading cause of death for men and women. However, the promising
news is that preventive measures can be taken to help ward off the flu while also boosting cardiovascular
health. For starters, practicing healthy lifestyle behaviors throughout the year can be a highly effective
strategy.

151 - The passage mainly ................ .
a) describes the difference between the flu, pneumonia and heart attack

b) indicates the association between the flu and heart conditions
¢) compares the flu and its complications with stroke
d) shows the effects of the influenza on stroke

152 - According to the passage, the flu ................ .
a) causes the same degree of heart attack in all adults

b) is limited to individuals with a history of heart attack
¢) does not develop into a heart attack among the young adults
d) increases the risk of ischemic stroke in adults aged 50 and over

153 - The underlined word “that” in the passage refers to ................ :
a) health complication

b) ischemic stroke
¢) heart attack
d) the flu

154 - Which of the following is TRUE according to the passage?
a) Unlike the flu, the heart attack was decreasing from 2023 to 2024.

b) The probability of a heart attack may continue over life following the flu.
c¢) Patients in all three reported studies were at risk of developing a heart condition.
d) All studies report the number of infected individuals at the risk of heart attack.

155 - According to the passage, ...........c...
a) the CDC promises to prevent the flu effectively in a year

b) yearly lifestyle changes improve adults’ cardiovascular condition
c¢) alasting healthy lifestyle helps prevent the flu and heart conditions
d) promising news throughout the year improves cardiovascular condition

14
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Passage 4

Despite advances in medicine, racial, ethnic, and socioeconomic disparities in chronic disease prevention and
management persist. In the health care sector, social determinants of health have increasingly become part of
the conversation around reducing health disparities. This makes sense given that social determinants account
for 50% of health outcomes, whereas medical care only accounts for 20% (health behaviors account for
30%). Multi-level, multi-sector, and multi-system efforts are needed to address health inequities. Behavioral
medicine can help inform these efforts. However, as behavioral medicine researchers and practitioners, we
must:1) understand the details in the different terminology that is used related to social health as it has
implications for study design and level of impact, and 2) do a better job at incorporating social health-related
measures in behavioral medicine research. The goals of this article are to explain the difference between
social determinants of health, social risk factors, and social needs as well as provide a brief overview of
available measures that can be used to assess these constructs in future research.

156 - The health care system ................ ethnicity-related differences in preventing and managing
chronic diseases.
a) is discussing ways to decrease

b) has already intended to resolve
¢) denies the presence of
d) owes its existence to

157 - The underlined word “This” refers to ................
a) racial, ethnic, and socioeconomic disparities ex1stmg in the prevention of chronic diseases

b) inclusion of social determinants of health in discussions of decreasing the health disparity
c) advances in medicine as regarded by behavioral medicine researchers and practitioners
d) the attempts to address the inequities practiced in the health sector by authorities

158 - Health authorities are required to seek help from ................ if they are to resolve health
inequities.
a) their own resources
b) behavioral researchers
¢) numerous sectors and systems
d) medical practitioners’ resources

159 - The text asks behavioral medicine researchers and practitioners to ................ and perform better
scholarly research.
a) increase the 20% share of medical care outcome

b) understand the small differences in terminologies
c) assess the accuracy of 50% health outcomes
d) do more regardless of multi-system efforts

160 - Advances in medicine ............... chronic diseases across different racial, ethnic, and
socioeconomic groups.
a) has resulted in proper management and prevention of

b) has failed to manage and prevent chronic diseases
c) unexpectedly serves as a barrier in preventing
d) accounts for unjust management of
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